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In the previous lectre we soid how we con sy AS R has a
minimum.
Ex. Use cuatihes Yo say a nonemply subset A oP R is bounded .
Bolkion - I m,MeR, VacA, m<asM
Ex. TFove or o[isfrwe That any bounded ﬂOn—em?‘fa Subset A =R
has o minimum .
Solution . We disprove. £ by proving that o, 1Y) s bownd , buct
it does net have a wminimum.

Bowded . Yae(@1), os<acl — & i5 bounded.

No miniowm . Suppose to the comtrary that it has o min-
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In order toget a better umlers‘cwdmg o} quarhibiers and the
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. Each Hime a ‘l’["‘ﬁer is Sw\r{)osecl . oy one ot the numbers
1,2, 3,4, 5
A plager wins # the mentioned numbers add up o 30 -
. Atter a few rounds we make a Conjectie, on

coinm'nﬂ coases W\J IOSIE} Coses .

o A gome. is o Qinning game i ‘ﬁ\e-ﬁ'rslr?lmder _Nﬁ awim:‘wa e

-2 Ql‘alu?éts the ﬁame, it a losn'nﬂ game. .

o A Gome 5 o [osij\g gpine. # no nvlfer cohat the 'Fi's'lr'\:[ﬁaer does

+he ZNI ?laujﬁr‘ Lm.s a ooinm'ng meve -
Using ﬂmn{:f%ers .

3.’ 3 a move 'Elr‘f‘:lmrfﬁ ) Vmw*e,of'-f-?[ma-er%,

A cold coin
Nt Y omove of glyer A, T e o glyer B
®  cald coin.
Miernabively.  Game ts P — T o e chich makes it N.
Gome s N —y Y meve makes it P.

:._E_)S' )n o %mne ea\clq '\)lﬂtﬁ-af‘ \s SuFfoseJ ‘b SO% one. o‘-P-
P l
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Numbers odd wy‘to
Find all the _yl’__s_ st. the above 8o\me, 5 a [osmg

IS

8%&-
Solution. (In class cve have o conqecture cohat- the ansiver
s That ore mukiples o & )
We we stony dnctio to shows, e neZ?,
G s N <= & |n.
Base . GG is char P 0s Hhe j*cruaw ot sous 1.
S_Jcm? induckive. step.  For ang ke Z',

1<mck ,  6Jm => G@m) is N ‘i ,?=> 6lbrl — Glerd) s N .
m = Gomy s P £k = Gl s P

PR Gl = SN Geedol Gy B W Bl e
A2 | e gk Gl
CHa-S2 s 9 by induchin hap.
= Gleed) is N.
LKkl S krl:é‘cp-rj:) # the Rk pbyer
°sr<é takes ouks bhe, remainder

coe %e:‘r G'Cg‘\r) cohich s N
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